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. HOW do you know that two expressions are equivalent? :‘;‘j’f"’s

Mathematical
Practices
13,4

Tickets Derrick and his friends bought tickets for the dirt bike rally. The
cost of each ticket was x dollars. Derrick bought 2 tickets on Saturday and
3 tickets on Sunday. They paid $4 for parking. The expression 2x + 4 + 3x
represents the total cost in dollars of the dirt bike rally.

Simplify the expression 2x + 4 + 3x using algebra tiles.

Choose tiles to represent each addend. Use[Z | xtiles to

model 2x, [ 4 |1 tiles to model 4, and | 3 | xtiles to model 3.
X + x|[x

Find the like terms. The like terms are | 2x | and| 3x | because

they are both xtiles. There are a total of |5 | xtiles and four 1-tiles.
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Simplify the expression 2x + 4 + 3x using algebra tiles.

Table of Contents

Choose tiles m represent each addend. Use 2 2 |xtiles to

model 2x, [ 4 |1 tiles to model 4, and | 3 | xtiles to model 3.

Find the like terms. The like terms are | 2x | and | 3 | because

they are both xtiles. There are a total of |5 | xtiles and four 1-tiles.

Draw the algebra tiles in the
space below, placing all like
terms together.

Rewrite the expression using addition to combine the like terms.
Add 2x and 3x.

So.2x+4+3x=|5x ] 4[4].
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2 Work with a partner. Simplify each expression using algebra tiles.
2 Draw algebra tile models to represent each expression.
Lox+ax+x=6
x| [ | x| + %
2. 4x+7+2x= BX+7
1
x| (|| x ] [ K
# 1]
7
3ox+1+3x=+1
x x|+
4.20+2)=2x+4
X 1
x * 1]
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5. (5 Model with Mathematics Maggie is x years old. Her brother Demarco
is 4 years older than her. Anna is 3 times as old as Demarco. Write and
simplify an expression that represents Anna’s age. Explain.

3(x + 4) = 3x + 12; Sample answer: If Maggie is x years old, Demarco’s

age can be represented with the expression x + 4. To find Anna’s age,
multiply the expression that represents Demarco’s age by 3.

. HOW do you know that two expressions are equivalent?

Sample answer: The expressions 2(x + 1) and 2x + 2 are equivalent because both

can be modeled using 2 x-iles and 2 integer tiles. They have the same value.
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